

BUILDING C - COMMON AREA / 17 UNITS



TOTAL FOR BUILDING C ----- \$ 2,493.560.00



BUILDING A 17 UNITS ONLY - No Common Area Included

WD-01.01 Arrigoni Saas Fee 7.5" - 24990 SF @ \$ 23.70 -----\$ 592,263.00

WD-01.02 Arrigoni Saas Fee 9.5" - 5780 SF @ \$ 26.40 -----\$ 152,592.00

WD-02 Patrick Lumber Hemlock 26400 SF @ \$ 28.10 ------\$ 741,840.00

CP-01 Softer Than Sisal 11950 SF @ \$ 8.90 -----\$ 106,355.00

2mm Sound Barrier 30770 SF @ \$ 4.00 -----\$ 123,080.00

Pad 3/8 5Lb 1325 SY @ \$ 3.60 -----\$ 4,770.00

Transitions -----\$ 500.00

Wood Freight / Storage 57170 SF @ \$ 2.70 -----\$ 154,359.00

TOTAL FOR BUILDING A -----\$ 1,875.759.





BUILIDING B - 23 UNITS ONLY - No Common Area Included

WD-01.01 Arrigoni Saas Fee 7.5" - 35200 SF @ \$23.70 ------ \$ 834,240.00

WD-01.02 Arrigoni Saas Fee 9.5" - 5650 SF @ \$ 26.40 -----\$ 149,160.00

WD-02 Patrick Lumber Hemlock 34980 SF @ \$ 28.10 -----\$ 982,938.00

CP-01 Softer Than Sisal 16420 SF @ \$ 8.90 -----\$ 146,138.00

2mm Sound Barrier 40850 SF @ \$ 4.00 -----\$ 163,400.00

Pad 3/8 5Lb 1820 SY @ \$ 3.60 -----\$ 6,552.00

Transitions -----\$ 500.00

Wood Freight / Storage 75830 SF @ \$ 2.70 -----\$ 204,741.00

TOTAL FOR BUILDING B -----\$ 2,487.669.00





Request for Information #1

Sommet Blanc-Building C

- All Electrical & Control Rooms on Level P1 The finish plan on A2.5C.01 do not show any finishes for these areas. Please clarify floor/base finishes. Assumed that these areas are to receive a Sealed Concrete (Not in Scope) w/Rubber Base finish for our takeoff.
- All Storage & Trash Rooms on Level P1 The finish plan on A2.5C.01 do not show any finishes for these areas. Please clarify floor/base finishes. Assumed that these areas are to receive a Sealed Concrete (Not in Scope) w/no base for our takeoff.
- 3. All Egress Stairs 05 & 06 The finish plan on A2.5C.01 thru A2.5C.12 do not show any finishes for these areas. Please clarify floor/base finishes. Assumed that these areas are to receive a Sealed Concrete (Not in Scope) w/Rubber Base finish for our takeoff.
- 4. RF-01 Areas The finish plans or finish legends do not specify what type of base is to be used in these areas. Please clarify the base type to be used in these areas. Assumed that these areas are to receive a 4"H Flash Cove base for our takeoff.
- 5. Elevator Cab The finish plan on A2.5C.01 thru A2.5C.12 do not show any finishes for this area. Please clarify. Assumed that this area is to receive WD-07 for our takeoff.
- 6. Stairs that go from Entry Lobby C001 to Skier Lounge C101 Finish plan A2.5C.01 & A2.5C.11 do not show a floor finish. Please clarify floor finish for these stairs. No floor finish figured for these stairs, excluded from our takeoff until clarified.
- 7. Corridors C241, C251, C341, C351, C441, C451, C541, C551, C641, C651, C741, C751, C841 & C851 Finish plan A2.5C.12 have the floor material listed as TBD. Please clarify floor/base finish in these areas. Assumed that a 12' Broadloom Carpet w/Wood Base (Not in Scope) is to be used for these areas for our takeoff.





- 8. All Electrical Rooms on Level 8 The finish plan on A2.5C.12 do not show any finishes for these areas. Please clarify floor/base finishes. Assumed that these areas are to receive a Sealed Concrete (Not in Scope) w/Rubber Base finish for our takeoff.
- 9. Mechanical C801 The finish plan on A2.5C.12 do not show any finishes for this area. Please clarify floor/base finishes. Assumed that this area is to receive a Sealed Concrete (Not in Scope) w/no base for our takeoff.

